Suggested Answers to Revision Exercises 1 of Textbook

Multiple-choice Questions

	Question
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

	Answer
	C
	A
	D
	C
	B
	C
	D
	C
	B
	A
	D


Structured Questions

1.
Since the opportunity cost of typing is higher for Miss Lee,
 (2 marks)

she has to forgo more income from her business (being a lawyer) if she types.  (2 marks)

Thus, she employs the clerk instead of doing the typing herself.             (1 mark)

2.  Alternative options forgone by Alan for going to cinema are:

Income forgone from working in supermarket and ticket fare, i.e., $40 + $60 = $100 Income forgone from working in book store and ticket fare, i.e., $25 x 2 + $60 = $110 The highest valued option forgone is $110, i.e., the income from working in the book

store and ticket fare.
(3 marks)

John is correct.
(1 mark)

3. (a)They are not free goods. They are economic goods. 




(2 marks)
They are produced from scarce resources. / More of it is preferred. 

(2 marks)

  (b) The opportunity cost is a mini-HiFi and a mobile phone. 



(2 marks) 
which are the hightest-valued option forgone. 





(1 mark)
4. (a) There is no change in opportunity cost.
     (1 mark)


 Since the value of the highest-valued option forgone (going to the birthday party) does not change.
(2 marks)

  (b) The opportunity cost will fall.
(1 mark)

Since the value of the hightest-valued option forgone (going to the party) has

decreased.
(2 marks)

